T 3 FEE SIRER RFEFRRAFEE BIR KB E
—iRE (R /HRERLER IRER (HK %]

M k37, OHEACCRENRES 200ME, ZhEok & 3EDHS AD, BE, CF
PORIEEHD B, £, CORHBOMELERZRS LE2BET B3RP A A OMEICH
%, 2 MO EFIRICRIF2FTIIN LT, PERROFANHESI bD LT 2,
2R BRPHAS L E, PRFFTED I, MR LOBOSICHENT 5,
2R BB A L %, PRRFEIEDIC, MALOBRORICBEIT 5,
CREBPIRTOMBLE, PRRY LOBORIBEIT 2,

D

EF

(1) ZoBTZ2 2[RI TITo &, PAS A DB H SHERIZ -

N

- ‘GE%O

H_\

(2) ZOBRTEIATITITIToL X, PHADOMNEBICH BHERIT THb,

pal
(3) ZOFTZ4EFET TITo e &, P AT A OMNBREZHERIL TH 5,
-:I
¥
(4) ZOFMT2ZAERITITITo2 %, PP ADMNBICH ZHERI TH5,
AtzY

a,b,c, k ZERE T 5, 3REM f) = ax® + b2 +ex+11& f/(-1) = 12 2{fl=L, »oO

I 11 v
retorumat L wrs, covs, as[F ], b=-[F ], e=-[ 7]
TBY, fix=[ 7 |ovsmME-[ F_|zrs,

ZZT, 3XEBERaP +bx2 +cx—k=0DPRRZ2300FE KR ¢ ,B,7(a<B<y) ZdD

rE kDL b%%ﬁﬁ@ﬁﬁrﬁnzz—<k< I—T—-*@zab, y D ¥ b8 3 HOTRE

=]

I

TH5,

CHDS>BD1)



T3 EE RIRERRFEEFRAZETBKBREE
—iREE (B /REEREE WHRER (K %]

a=1,a;=3, a2 = 4ay1 — 30, + 2 TERSNDEF {a,) BE X Do by = a1 —ay £BL
t, = E |, b=[ 7 Jou+[ ~ JuoT, b= & | -[ =_|TH5.
n

e s,

100 EIOO
= oummsize=[ TV |cnh, e
Bk

o 100

o&%@&%ﬂ%wfxlo%l;”l (T2 1) xr0r e,

BEIZED, awo D[ 35 | TH3. £ZL, logg2=03010, log,y3 = 04771 £ 3,

£oT, a,=

T TT, aj OHIEEE X 5. logy,

Bo x>k, 1 BOREN1TH3 2 00IEMNEE OABC, ABDEXH 3, /2L, 40,
A, B, DIRR—EHLIcH 2, $#9 OE LAABC DXEE P, D AEZ2: 1 RADT S
MEF, MO OFY AABCOXEZ QLT 5,

7
Vv

(1) OE = oK +OB+[ u_Jot , OF = ﬁ"mao

(o]

— -
(2)ﬁ=|LIOA+|—9_Iﬁ+68 ; 0_Q)=6ﬁ’5§50

» Jy[E<]
(3) I PQDEXIE THh5,

(4) APQF ¥ APEF QA% b MREMILTRT L APQF: APEF=| & [ LY |

TH 5,

#®

(ZHRDS5BD2)



